Name: V= C O Date:

Unit 1 - Equations: Review

1. For each term provided, state 2 more like terms.

a) 3x3, Ux ™, —2x°> b.-2x, Hx, “x
Recall:  To simplify means __ —© Ccllcct | \Re —tevans

2. Simplify the following by combining like Terpsﬂ\

a) 4a+2a c) @i@fﬁxz‘@ e) 5x? - 2x + 4- 3x?

= (oo = C“[;\(l — S = 2 x,ﬁ__ D+ L.
b) 5x° - 12x? d) 6x 4% - 5X2 9% ©)49+69-3+29
= “_him s |2™ #1222 = \’2-_0\’3

3. Expan_d\fhe following and then collect like terms if hecessary..

N
Q) 20x-2) ¢) 5y - 1) + 4(2y + 3)
2 2 x— =1 - U\/ \»\,\ & \AE_\:\:Z\\,\L
= {%\3\ +

m 7 /<_\\
b) 3(2)(2 _ X) _ 1( XZ _ 6X) d) 3(2)( - 4)
j (5 x/—, B D = \.\ \\'} N ‘O 2 = {p b S 12
‘f\/“- NN
- \":L +~ 3 b7
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Recall:

To solve means —o©

{Solate. e

Date:

L_,[ Yy \C,‘/“, (- N

= o 5 (ik e anl

TR

valvro

Vor teo\s

4. Solve each of the following linear equations

a) 3x =24

~ 3 7 L
c)k—4=13 e)2=5 9)3=2x+7
\\S 3 g e wy = — =
—_— Kooy (%: ‘)(\\ A= = 2%
\x= % | Bl
X= 5 | LY
5
’ =3 =&
‘\
Y xﬁ/ - //_\__5
b) 4x = 22 d)y+2=11 f) =30 h)2x —4 =18
“ 5 S |
\ : — vjfl‘-”l + =150 | 2= 18+
X = | ,___-_/’/__.)———-—1
” e e e
o0 5 by
X85S 1
=]
5. Check questions 4g and 4h despe—s
(9 L=\ RS ) s | =&s
T T _
- ’5 \ LX i | ~ = Z/X,__L_*‘ _ l%
tes 2 (=2 = +
i— PA L—{’) 7 / = l{\l) ~H ;i
= = —+ |
. I )
= 1%
6. Solve the following equations '
a) w—4=2w+6 b) 3(x +2) = 4(x — 5)
- = LEE sy
Wy o = e 44 3Xx+ b = Yx -20
IwW = (O . ‘M
= = DE= T s — A~k
m=s] - X = 2k
el - ¥
\/Y\ = 2_—(0_":
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2 Vi Date
T+2 ) q+3 _ q-5
b) 5 =-5 d) 5=+ Len= b
/—\s-, 1 .—‘>
A o= e
C+ =19 !\0((_"1/1—3/ \i‘&(ﬁ'—%
7 //‘._\‘ //\—\J
( - j IQC] P ) = 3@%-53
- § — N
2 vk = 2 15 |g=21|
s > ey L~ /;
29 =G 2~ —
14 % i
~q = -2
',’/

7. Evelynhas 1 horses‘.' and 10 chickens. The equation C = 8d 4 100, represents the total

cost, T, to feed The animals for a certain number of days, d. If Evelyn has! $27OO could
she feed them for the entire year?

\_.
C.= Td+ O
27los = R + 1D
“""\v/ — o / b
‘ = 3 7 She coutd NOT
AN oeo=100 = "8 D ]
\ Leod dhem o0&
(M ale, = %d
—_— —
< 6

yéar
e E
AS = o~

=

]
\~ noY ‘/\'IFC:

8. Use the simple m‘reres‘r formula I = Prt, to fmd the amount that needs to be invested
at! 4A}per' year for‘ 20 year‘s in order to earn» $6000 in interest.

= r;‘.‘z;/:-,-"'

i

B —

= 3
= A

i %
STTIS0D woula heed
— = OZP . =l
Looo %{ 45 e (hVeStEd
100 ’:?
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9. Use the formula d = st to defermine Dakota's speed in kilometers per hour if he runs

10 kmiin O.?5 hours. c:luf <

-

11y = S(0.99)
&
~7

10. One measure of a baseball pitcher's performance is WHIP, walks and hits per inning
pitched. This statistic relates the number of runners who get on base per inning, r, to
the total number of walks, w, the total number of hits, h, and the total number of
innings pitched, I, according to the formula r = WTHI Determine Jesse's WHIP based on
the following stats. Y= 198+ &S

O -
Walks: 18 T:L‘/‘
Hits: 35 ' v el = | B
! . = = %5 L J\\“l‘ s -D»L\J
Total Innings: 40 o
L fO
r= 1.22s

w—=10e
t

types. The speed, s, is related to the number of words typed, w, the number of errors,
e, and the time spent typing in minutes, . If Jaycee ‘rypes"500‘ words in 6 min, wi’rhf 8\
errors, what is her typing speed? N L

11. The equation s =

, models the speed in words per minute, s, at which someone
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Date:

Name:
12. Savannah and India leave the same place at the same time and drive in opposiTe

directions. India drives 5 km/h faster than Savannah does_ Af’rer 2 hr\ they are 255 )
km apart. How fast is each driving? \ PLI 2\ ol 3]

S = \C'x b.\/(\,‘)}

(¥
\ { o o S
SO\\JQV\‘/\CL\/'\ = K e ala. = >’\ T =
7 Gl . = R _
= lgli= LM“//{/' = LLIBTS

LG LS bm /’ ~
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